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S9l: PENSYUNE (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O AR 4 1,000& = 1,200 = 2CH 2,400
O 34 1,000& = 4004 = 20H 800
O A& & Bl R X8I 4,647
O HA 2,400& = 811m* 1,947
O gEHX 60,000& * 103 600
O U2l 30,000& ~ 10CH = 33 900
O &It AIUEY =2
100,000& = 12& 1,200
O XtgF - dey] 9,000
O g2 (*RU, HUIKXL, 2234]) 9,000
3t = Xt 5,000,000& * 1CH 5,000
SEXt 4,000,000& = 1CH 4,000
206 M = Hl 10,000 10,000 0
01 M= bl 10,000 10,000 0
O 28232 7,500
O g4aM 300& * 10,000 3,000
O t4EH 15,000& = 300 4,500
[ JIet XA ¢ 50,000& * 10& * 53| 2,500
FOIE oA (THEHH) 391,946 394,128 N2,182
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O g&81el(XE) =2 ZHISA
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0O Sd2e(S4) =2 ZHISA
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0O 2232 (H2) =2 ZHISA
15,000,000& * 14 15,000
O gd&1e(Ga) th+=2 FHHIS A
15,000,000& * 14 15,000
O g&22l (THAH) =2 HBIS A
10,000,000& * 14 10,000
03 Al 2 0HHI 1,080 1,080
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0O S22/ (&) =2 HUI3A
15,000,000& * 14 15,000
O tHs1el (=) s2 FH3A
10,000,000& * 14 10,000
O el (&) =2 ZHISAM
10,000,000& * 14 10,000
O thg2el(¢ot) s2 FHISA
10,000,000& * 14 10,000
O =d2cl(&8H) s2 FHSAM
15,000,000& * 14 15,000
O ths2el(82) s2 FH3AM
10,000,000& * 14 10,000
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O Fd12l(at=) s2 U3 A
10,000,000& = 1A 10,000
03 AlE 201 | 1,080 1,080 0
O A& 150,000,000 = 0.72/100 1,080
HMSHAH (HetH) 142 557 138,966 3,591
olad 2 A 100,817 97,726 3,091
ol Y| (fard) 100,817 97,726 3,091
101 Q124 H] 100,817 97,726 3,091
01 2 100,817 97,726 3,091
O =224 100,817
SIEEELES=
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O L&y 60,000 * 1€ = 113g 6,780
[0 =&l 10,640
O Ar20lgs & Malgl &2 S
8,0008 » 14 x 95! 10,640
O dxzs 2,600
O 9&E™H MY XX
150,000 * 10H = 43| 600
O o2t &H| Xt 2,000,000& = 1A 2,000
202 o4 | 1,600 1,040 560
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O WEE MEMELEsS o]
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204 &R 4 A H| 2,400 2,400 0
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